Solution to Introductory Problem

Since n = 8§ and » = 3 the number of combinations is given by
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Therefore, there are i(o_combinations of 8 objects taken 3 at a time

E.g., 2. How many different sampler dishes, with 3 different flavours, could you get at an ice-cream shop
with 31 different flavours?
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E.g., 2. From a class of q students, determine how many ways a 5-person group can be selected to
organize a class party

a) with no restrictions
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b) with you on the committee
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F.g.3
a) In a standard deck of cards, how many 5-card hands will have 3 ace@ 2 kings?
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E.g.. 4. A delegation of three people s to be chosen from a group of community volunteers consisting of

4 lawyers, a doctor, and eachers. In how many ways can this group be formed if at least one teacher
must be a member of the detegation?

Solution:

Considering two forms of reasoning,\direct)or indirect)we can solve this problem. If we handle the
problem directly, all suitable outcomes are totalled to get a final answer. We will consider three cases:

1. adelegation with one teacher;
2. adelegation with two teachers; or ]
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3. adelegation yith three teach
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Case 3:

If we handlethe problem indirectly, all undesired outcomes are subtracted from the total to get the final

answer. We will find the total number of three person delegations, without restrictions, and then subtract
the number of delegations with no retailars. 4 ¢ S es3
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soa (aXresk | lads) = 56— 10 = 29
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